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History Essay Part a) BARE PASS 4/8
The general introduction has to be considered as it provides some context for the overall historical period. However, the response is very heavily based on post-war reconstruction and there is very little about the development of later economic problems. This suggests ‘bare pass’ because of the restricted time period. However, despite the obvious errors, some of the knowledge of the post-war reconstruction period is worth ‘satisfactory’, even though the understanding is basic and limited. This is, therefore, a partial answer and this restricts it to ‘bare pass’.
History Essay part b) SATISFACTORY 7/12
The response is focused on the question at the beginning but then drifts into some vague and irrelevant material. Mentions several aspects of Thatcher’s premiership but very often they are not focused on the economy and they lack depth of analysis. However, there are several relevant sections, based on economic issues, and the response shows some ability to analyse and argue. The response has an evaluative element.
AMQ Part a) SATISFACTORY 6/10
Most of the locations on the map are precisely located and there is the use of a good range of appropriate colours and symbols. The key is structured and relevant but lacks an explanatory context. The commentary adds understanding to what is shown on the map. Arrows show flows but lack information on the nature of the flows. There is not much focus on the ‘South’.
AMQ Part b) SATISFACTORY 6/10
There is sound understanding with some subject context. The response tends to describe the document rather than using it in an analytical/evaluative way. Structure is simple and does not allow for a more detailed evaluation of the current dynamics of globalisation. Many ideas are introduced but very few of them are developed – there is considerable breadth but very little depth. This weakens the response.

So, overall 4/8 + 7/12 + 6/10 + 6/10 = 23/40 – which converts to 12/20
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